CITY OF CREST HILL CITY CENTER

Change Order

Date:	7/15/2022									
Project:										
Contractor:	ractor: P.T. Ferro Construction Co.									
Change Order #:	1									
Description:	C-12: Add Concrete Pads for Benches and Trash Bins * Excavation, Compacted Stone Backfill and Concrete Pads in the Dimensions, Thickness, Types / Materials as shown for Benches and Trash Bins C-13: Add / Create Drop of Lane including Islands & Pads for Mail Boxes * Sawcut Existing Asphalt for New Concrete Island to Create a Drop of Lane; Excavate Existing Subbase as needed for New Concrete Curbs for Island; Stone Backfill as Req'd; Frame & Pour New Concrete Curbs to Form New Island. C-20.A: Add Concrete Curb to Backside of West Drive * Sawcut as Req'd; Excavation to Subgrade; Compacted Stone Subbase; Frame & Pour Curb C-28: Encasement of Existing Gas Feeds to Generators * Excavation; Trench Pour Concrete to Encase Gas Pipe; Backfill with Spoils C-29: Relocate Dumpster Coral to East Side of Facility * Demo Existing Dumpster Coral Pad; Sawcut Existing Dumpster Coral Depressed Curb & Remor Frame & Pour New Curb to match Existing; Backfill Existing Location w/ Topsoil; Sawcut Existing Asphalt on East Side; Rework Subbase for New Thicken Edge Slab for Coral; Frame & Pour New Coral Pad with Thicken Edge. Memorial Garden Items * Undercuts as required for Bad Soils * Brick Paver Concrete * Foundations for Monuments Labor Escalation * Labor Increase for Work Completed after May 1, 2022 **Note: See Attached RCO / Proposals									
Original Contract:	\$	686,748.75								
Previous Change Orders:	\$	-								
Contract Total Prior to this CO:	\$	686,748.75								
New Change Order Amount:	\$	162,000.25								
New Contract Amount:	\$	848,749.00								
Approved:										
Administrator	Date		Shawn Thompson - Project Manager	Date						
Sub-Contractor	Date		Dan Skiera - Superintendent	Date						

700 SOUTH ROWELL AVENUE • P. O. BOX 156 • JOLIET, ILLINOIS 60434-0156 • (815) 726-6284

6/23/22

Harbour Contractors, Inc. Attn: Shawn Thompson 23830 W. Main St. Plainfield, IL 60544

Re: City Center - Site Concrete & Asphalt - Extra Site Concrete Work

Mr. Thompson,

We respectfully submit for your approval the following Agreed Unit Prices for:

			UNIT	TOTAL
<u>ITEM</u>	QUAN	<u>UNIT</u>	PRICE	PRICE
UNDERCUTS MEMORIAL GARDEN AREA	111.00	CY	\$100.00	\$11,100.00
BRICK PAVER CONCRETE	1989.00	SF	\$21.00	\$41,769.00
NEW TRASH PAD 8 "	65.00	SY	\$250.00	\$16,250.00
CONCRETE SLAB	35.00	SY	\$235.00	\$8,225.00
NEW ISLAND	1.00	EA	\$9,600.00	\$9,600.00
CONC SLAB FOR EMPLOYEE TABLES	45.00	SY	\$250.00	\$11,250.00
DEMO EXISTING TRASH ENCLOSURE PAD	8.00	SY	\$115.00	\$920.00
B6.12 CURB PATCH	100.00	LF	\$75.00	\$7,500.00
MONUMENT FOUNDATIONS	10.00	EA	\$3,700.00	\$37,000.00

Sincerely,

Andrew Hess

Estimator/Project Manager

Terms Accepted By

6/23/22

Harbour Contractors, Inc. Attn: Shawn Thompson 23830 W. Main St. Plainfield, IL 60544

Re: City Center - Site Concrete & Asphalt - Completed Trash Pad Foundation & Utility Pads

Mr. Thompson,

We respectfully submit for your approval the following Agreed Unit Prices for:

			UNIT	TOTAL
<u>ITEM</u>	QUAN	<u>UNIT</u>	PRICE	PRICE
TRASH PAD FOUNDATION	8.00	SY	\$90.00	\$720.00
UTILITY PADS	27.00	SY	\$100.00	\$2,700.00

Sincerely,

Andrew Hess

Estimator/Project Manager

Terms Accepted By

6/23/22

Harbour Contractors, Inc. Attn: Shawn Thompson 23830 W. Main St. Plainfield, IL 60544

Re: City Center - Site Concrete & Asphalt - Labor Increase

Mr. Thompson,

We respectfully submit for your approval the following Agreed Unit Prices for:

LABOR COST ESCALATION

**FOR WORK COMPLETED AFTER ORIGINAL

COMPLETION DATE OF MAY 1, 2021**

LEMIN DESCRIPTION OF MAY 1, 2021**

UNIT PRICE PRICE

PRICE

1.00 LS \$10,271.24

\$10,271.24

Sincerely,

Andrew Hess

Estimator/Project Manager

Terms Accepted By